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A. Vital Statistics (2000-09)       

Variable Mean Std. Dev. Median 

Monthly n. of conceptions 38021 3168 38505 
    

Post-June 2007 dummy 0.25 0.435 0 

Month of conception  -30.5 34.8 -30.5 
�
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B. Abortions statistics (2000-09)       
Variable Mean Std. Dev. Median 

Monthly n. of abortions 6725 1348 6535 
    
Post-June 2007 dummy 0.25 0.435 0 

Month of abortion -30.5 34.8 -30.5 
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C. Household Budget Survey  (2008)     
Variable Mean Std. Dev. Median 

Total expenditure 30507 17721 26145 

Child-related expenditure 4778 4275 3561 

Durable expenditure 5654 8740 2276 

Daycare expenditure 306 848 0 
    
Post-June 2007 dummy 0.487 0.500 0 

Month of birth -0.780 5.056 -1 

Age of mother 32.62 5.14 33 

Mother some secondary 0.234 0.424 0 

Mother high school graduate 0.326 0.469 0 

Mother college grad. 0.321 0.467 0 

Mother immigrant 0.165 0.371 0 

Not first-born 0.539 0.499 1 
�
�

B�
�8�������� �����������������������������
�	����������3667������������������
�����A�
���	�366=�����
C�	���3667�-��
����������0�����������	��������	��
��������J47��
�

D. Labor Force Survey   2008       2009   
Variable Mean Std. Dev. Median   Mean Std. Dev. Median 

Worked last week 0.422 0.494 0  0.505 0.500 1 

Currently employed 0.541 0.498 1  0.576 0.494 1 
        
Post-June 2007 dummy 0.477 0.500 0  0.453 0.498 0 

Month of birth -0.815 5 -1  -0.415 5 0 

Age of mother 32.38 5.25 33  33.40 5.26 34 

Mother some secondary 0.236 0.425 0  0.239 0.427 0 

Mother high school grad. 0.343 0.475 0  0.353 0.478 0 

Mother college grad. 0.297 0.457 0  0.298 0.458 0 

Mother immigrant 0.170 0.376 0  0.154 0.361 0 

Not first-born 0.523 0.500 1   0.532 0.499 1 
�
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RDD 10 
years   

RDD 5 
years   

RDD 12-
12m   RDD 9-9m   

RDD 3-
3m   

DiD 10 
years   

DiD 7 
years   

DiD 5 
years   

  1   2   3   4   5   6   7   8   
Conceptions 0.0514**  0.0695***  0.0852**  0.0750**  0.0503   0.0452***  0.0551***  0.0527***  

 (0.0221)  (0.0250)  (0.0359)  (0.0285)  (0.0314)  (0.0105)  (0.0087)  (0.0136)  
                 

Abortions -0.1248***  -0.1730***  -0.2187**  -0.2165***  -0.1304**  -0.0751***  -0.0610**  -0.0649*  
 (0.0427)  (0.0504)  (0.0781)  (0.0613)  (0.0310)  (0.0268)  (0.0254)  (0.0366)  
                 
Years included 2000-09  2005-09  2006-08  2006-08  2007  2000-09  2003-09  2005-09  
N (number of 
months) 120  60  24  18  6  120  96  60  
Linear trend in m Y  Y  Y  Y  N  Y  Y  Y  
Quadratic trend in 
m Y  Y  Y  N  N  Y  Y  Y  
Cubic term in m Y  N  N  N  N  Y  N  N  
N. days of the 
month Y  Y  Y  Y  Y  Y  Y  Y  
Calendar month 
dummies N   N   N   N   N   Y   Y   Y   
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A. Household Budget Survey (2008)       

  1 2 3 4 5 

Age of the mother 0.359 0.095 -0.024 -0.044 -0.407 
 -1.029 (0.814) (0.997) (0.597) (0.708) 
      
Age of the father 0.117 0.120 -0.415 0.465 -0.324 
 -1.165 (0.912) -1.129 (0.679) (0.769) 
      
Mother secondary 0.044 0.045 0.071 -0.010 -0.005 
 (0.079) (0.063) (0.077) (0.047) (0.052) 
      
Mother high school gr. -0.003 -0.055 -0.043 0.010 0.001 
 (0.095) (0.074) (0.092) (0.053) (0.063) 
      
Mother college grad. -0.026 0.012 0.018 0.011 0.012 
 (0.093) (0.073) (0.090) (0.052) (0.062) 
      
Father secondary 0.127 0.084 0.118 0.044 0.041 
 (0.086) (0.069) (0.085) (0.050) (0.058) 
      
Father high school gr. -0.026 -0.032 -0.005 -0.007 0.005 
 (0.090) (0.071) (0.088) (0.051) (0.060) 
      
Father college grad. -0.107 -0.064 -0.096 -0.024 -0.036 
 (0.089) (0.070) (0.087) (0.049) (0.059) 
      
Mother immigrant -0.038 -0.016 0.013 0.011 0.058 
 (0.073) (0.057) (0.071) (0.044) (0.047) 
      
Not first-born -0.017 0.003 -0.036 -0.017 -0.045 
 (0.099) (0.078) (0.096) (0.056) (0.066) 
      
N. obs. 958 651 446 319 234 
Linear trend in m Y Y Y N N 
Quadratic trend in m Y N N N N 

N. of months  18 12 8 6 4 
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B. Labor Force Survey (2008)       

  1 2 3 4 5 

Age of the mother -0.307 -0.283 -0.292 -0.692*** -0.164 
 (0.342) (0.269) (0.332) (0.189) (0.227) 
      
Age of the father -0.430 -0.405 -0.728** -0.912*** -0.605*** 
 (0.353) (0.274) (0.344) (0.191) (0.233) 
      
Mother secondary 0.009 0.013 0.050* 0.024 0.040** 
 (0.028) (0.022) (0.028) (0.015) (0.019) 
      
Mother high school gr. -0.092*** -0.077*** -0.097*** -0.061*** -0.066*** 
 (0.031) (0.025) (0.031) (0.017) (0.021) 
      
Mother college grad. 0.063** 0.047* 0.062** 0.041** 0.029 
 (0.030) (0.024) (0.030) (0.017) (0.020) 
      
Father secondary -0.015 -0.023 0.002 -0.001 -0.012 
 (0.029) (0.023) (0.028) (0.016) (0.019) 
      
Father high school gr. -0.044 -0.006 -0.025 -0.005 -0.006 
 (0.031) (0.024) (0.030) (0.017) (0.020) 
      
Father college grad. 0.044* 0.021 0.015 0.008 0.003 
 (0.027) (0.021) (0.026) (0.015) (0.018) 
      
Mother immigrant 0.022 0.009 0.015 0.009 0.008 
 (0.024) (0.019) (0.024) (0.014) (0.016) 
      
Not first-born 0.046 0.007 0.045 -0.017 0.018 
 (0.033) (0.026) (0.032) (0.018) (0.022) 
      
N. obs. 8691 5813 4083 3026 2062 
Linear trend in m Y Y Y N N 
Quadratic trend in m Y N N N N 

N. of months  18 12 8 6 4 
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  1 2 3 4 5 6 7 8 
Dependent variables RDD 9m RDD 6m RDD 4m RDD 3m  RDD 2m RDD 2m DiD 1 DiD 2 
Total expenditure -3175 -2247 405 -580 -1774 -1084 -1307 -621 
 (2838) (2244) (2885) (1553) (2032) (1832) (2194) (1258) 
         
Total exp. (logs) -0.142 -0.105 -0.034 -0.041 -0.072 -0.060 -0.049 -0.037 
 (0.092) (0.074) (0.092) (0.052) (0.067) (0.063) (0.071) (0,036) 
         
Child-related expenditure -407 -599 357 -21 -150 10 94 -350 
 (766) (618) (795) (444) (536) (534) (592) (320) 
         
Child-related exp. (logs) -0.011 -0.034 0.087 0.018 0.002 -0.001 0.017 -0.097 
 (0.195) (0.151) (0.194) (0.103) (0.127) (0.128) (0.132) (0,062) 
         
Durable goods expenditure -1513 -1849 -1011 -760 -1046 -999 -1721 -380 
 (1688) (1345) (1704) (927) (1105) (1099) (1137) (645) 
         
Durable goods exp. (logs) 0.157 0.025 0.230 0.089 0.080 0.071 0.022 -0.063 
 (0.297) (0.239) (0.302) (0.170) (0.200) (0.213) (0.208) (0,097) 
         
Number of observations 941 640 441 315 230 230 2249 2902 
Linear trend in m Y Y Y N N N Y Y 
Quadratic trend in m Y N N N N N Y N 
Calendar month of birth 
dummies N N N N N N Y Y 
Controls Y Y Y Y N Y Y Y 
Number of months  18 12 8 6 4 4 48 48 
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  1 2 3 4 5 6 7 8 
Dependent variable RDD 9m RDD 6m RDD 4m RDD 3m  RDD 2m RDD 2m DiD 1 DiD 2  
Working last week -0.0636** -0.0430* -0.0577* -0.0532*** -0.0547** -0.0576*** -0.0437*** -0.0206* 
 (0.0316) (0.0249) (0.0311) (0.0179) (0.0219) (0.0213) (0.0155) (0.0116) 
         
Employed -0.0626** -0.0392 -0.0799*** -0.0535*** -0.0612*** -0.0610*** -0.0203 -0.0186 
 (0.0309) (0.0243) (0.0304) (0.0174) (0.0219) (0.0208) (0.0166) (0.0114) 
         
N 8691 5813 4083 3026 2062 2062 21185 25544 
Linear trend in m Y Y Y N N N Y Y 
Quadratic trend in m Y N N N N N Y N 
Calendar month of birth 
dummies N N N N N N Y Y 
Controls Y Y Y Y N Y Y Y 
N. of months of birth 18 12 8 6 4 4 48 48 
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  1 2 3 4 5 6 7 8 
Dependent variables RDD 9m RDD 6m RDD 4m RDD 3m  RDD 2m RDD 2m DiD 1 DiD 2 
Private daycare -138 -123 -195 -157* -147 -158 -177** -94 
 (170) (121) (161) (80) (101) (103) (84) (65) 
         
Private daycare (binary) -0.0795 -0.0985 -0.1041 -0.0943* -0.1096* -0.1248* -0.0364 -0.0627* 
 (0.0940) (0.0743) (0.0938) (0.0538) (0.0624) (0.0644) (0.0500) (0.0324) 
         
Official infant care center 38 -16 89 -33 -21 32 -14 -6 
 (147) (134) (139) (99) (125) (115) (76) (61) 
         
Official infant care center 
(binary) -0.1135 -0.0471 -0.0538 0.0070 -0.0470 -0.0158 0.0068 -0.0129 
 (0.0911) (0.0713) (0.0897) (0.0510) (0.0609) (0.0622) (0.0475) (0.0298) 
         
Nanny/ babysitter 120 187 424 182 277 411 196 -10 
 (342) (278) (321) (205) (240) (255) (179) (127) 
         
Nanny/ babysitter (binary) -0.0384 -0.0038 0.0418 0.0129 0.0002 0.0191 -0.0161 -0.0281 
 (0.0931) (0.0728) (0.0904) (0.0532) (0.0635) (0.0630) (0.0502) (0.0319) 
         
N 958 651 446 319 234 234 2289 2904 
Linear trend in m Y Y Y N N N Y Y 
Quadratic trend in m Y N N N N N Y N 
Calendar month of birth 
dummies N N N N N N Y Y 
Controls Y Y Y Y N Y Y Y 
N. of months  18 12 8 6 4 4 48 48 
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(Dependent variable: (Log) monthly number of births) 
�

  1   2   3   4   5   6   
Post 0.0627***  0.0613***  0.0517***  0.0634***          
(Jan. 08 and on) (0.0118)  (0.0118)  (0.0139)  (0.0115)      
             Pre           -0.0022  
(Jan.-June 07)           (0.0124)  
             Post0         0.0265**  0.0247*  
(July-Dec. 07)         (0.0113)  (0.0147)  
             Post1         0.0701***  0.0673***  
(Jan.-June 08)         (0.0176)  (0.0229)  
             Post2         0.0864***  0.083***  
(July-Dec. 08)         (0.0204)  (0.0276)  
             Post3         0.053**  0.0482  
(Jan.-June 09)         (0.0265)  (0.0360)  
             Post4           0.0741**  0.0681  
(July-Dec. 09)         (0.0350)  (0.0462)  
             Years included 2000-09  2000-09  2002-09  2002-09  2000-09  2000-09  
N (number of months) 120  120  96  96  120  120  
Linear trend Y  Y  Y  Y  Y  Y  
Quadratic trend Y  Y  Y  Y  Y  Y  
Cubic trend Y  Y  N  Y  Y  Y  
Quartic trend N  Y  N  N  N  N  
N. days of the month Y  Y  Y  Y  Y  Y  
Calendar month dummies Y   Y   Y   Y   Y   Y   
-�� W6������� W6�64������ W6�6�0�
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RDD 10 
years 

RDD 5 
years 

RDD 12-
12m RDD 9-9m RDD 3-3m 

DiD 20 
years 

DiD 10 
years 

DiD 5 
years 

  1 2 3 4 5 6 7 8 
Post 0.0069 0.0274 0.0469 0.0511 0.0416 -0.0349 -0.0163 0.0080 
 (0.0250) (0.0221) (0.0446) (0.0331) (0.0332) (0.0230) (0.0172) (0.0177) 
         
Years included 2000-2009 2005-2009 2006-2008 2006-2008 2007 1990-2009 2000-2009 2005-2009 
N 120 60 24 18 6 240 120 60 
Linear trend in m Y Y Y Y N Y Y Y 
Quadratic trend in m Y Y Y N N Y Y Y 
Cubic term in m Y N N N N Y Y N 
Control days of the month Y Y Y Y Y Y Y Y 
Calendar month of birth 
dummies N N N N N Y Y Y 
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  1 2 3 4 5 6 7 
Dependent 
variables RDD 9m RDD 6m RDD 4m 

RDD 
3m  RDD 2m RDD 2m DiD 1 

Total exp. 2234 1129 3430 1958 2309 2736 -756 
 (2771) (2248) (2897) (1559) (1963) (1942) (2015) 
        
Child-related exp. -855 -806 -371 -222 -205 -63 -417 
 (640) (549) (637) (362) (483) (436) (525) 
        
Durable goods exp. 1387 1122 1767 872 1077 1193 84 
 (1277) (1009) (1229) (746) (926) (895) (918) 
        
Total exp. (logs) 0.085 0.044 0.154 0.063 0.086 0.112 0.003 
 (0.104) (0.082) (0.104) (0.055) (0.073) (0.070) (0.074) 
        
Child-related exp. 
(logs) -0.074 -0.105 0.139 -0.021 0.077 0.122 -0.105 
 (0.196) (0.156) (0.201) (0.106) (0.142) (0.133) (0.141) 
        
Durable goods exp. 
(logs) 0.304 0.247 0.410 0.211 0.203 0.229 0.237 
 (0.268) (0.211) (0.260) (0.146) (0.176) (0.171) (0.205) 
        
Private daycare 
expenditure 29 -38 128 -25 45 113 -108 
 (249) (201) (247) (137) (171) (166) (169) 
        
Private daycare 
exp. (binary) 0,029 -0,054 0,039 -0,021 -0,048 -0,016 -0,067 
 (0,099) (0,081) (0,010) (0,056) (0,066) (0,070) (0,073) 
        
Working last week -0.0561* -0.0293 -0.0955*** -0.0109 -0.0347 -0.0360 0.0785*** 
 (0.0327) (0.0255) (0.0350) (0.0179) (0.0250) (0.0239) (0.0244) 
        
Employed -0.0781** -0.0449* -0.1087*** -0.0273 -0.0495** -0.0488** 0.0137 
 (0.0318) (0.0247) (0.0339) (0.0173) (0.0249) (0.0231) (0.0168) 
        
Linear trend in m Y Y Y N N N Y 
Quadratic trend in Y N N N N N Y 
Cal. month of birth N N N N N N Y 
Controls Y Y Y Y N Y Y 
N. of months  18 12 8 6 4 4 48 
-�� W6������� W6�64������ W6�6�0�
�

B�
��8���������������
��	� �	
����	����	�
�������	��������
�	�
�;��������������	����
�����
�	�<����3665��/����
����������
�����	����������	��
�	��	��������1
����	���		�	���	����������� �	��
������������� �����
���	���������
������
�����������	��������	��������
�����	�����	�8�#�1�-366J0���	�
����� ����
�	����	������$������,1�-366J0�
��	�
���	��
��������� ������
���2..�� �������
�����������������������������������������
�����3�����J����
���
����	���	���
�	�<�����$�3665������.�.�� �������
��������������������������������������������
�����3664�����
3667$���
������������@��
	�����	��������	�8��������
�����
��	$������H��	��$����������$�
�	��������
������
�

������
��������$���������	��
��
�
��������$������� �	�
�$��������
�������
�	��������������1���
�  ��������	�
�������
�������
������������"	���
����� ����
�	��������	������������� ����
�	����

�
�
�



� >7�

������D>��C�
�	��������	���  ���������	������	����
��-1������1���	�
����
�$�366J���� ��0�
�

  1 2 3 4 5 6 7 8 
Dependent variable RDD 9m RDD 6m RDD 4m RDD 3m  RDD 2m RDD 2m DiD 1 DiD 2  
Employed 6 months post-birth -0.0444** -0.0321** -0.0345* -0.0065 -0.0253* -0.0187 -0.0101 0.0029 
(binary) (0.0185) (0.0144) (0.0180) (0.0100) (0.0140) (0.0122) (0.0167) (0.0127) 
         
Employed 12 months post birth -0.0398** -0.0273* -0.0311* -0.001 -0.0283** -0.022* -0.0042 -0.0014 
(binary) (0.0189) (0.0145) (0.0181) (0.0100) (0.0135) (0.0123) (0.0169) (0.0128) 
         
Months not emp. out of 6 0.1927** 0.1543*** 0.2091*** 0.0428 0.1598** 0.1048** 0.1487** 0.043 
(after birth) (0.0772) (0.0602) (0.0756) (0.0418) (0.0730) (0.0507) (0.0701) (0.0531) 
         
Months not emp. out of 12 0.4191*** 0,3142** 0.3522** 0.0804 0.2946** 0.2019* 0.1764 0.0243 
(after birth) (0.1600) (0.1248) (0.1567) (0.0868) (0.1383) (0.1056) (0.1463) (0.1107) 
         
Earnings 12 months post-birth -853** -723*** -653* -117 -714*** -370* -320 -137 
(in euros) (341) (265) (336) (183) (275) (221) (303) (229) 
         
N 20039 13613 9208 6926 4663 4663 48987 48987 
Linear trend in m Y Y Y N N N Y Y 
Quadratic trend in m Y N N N N N Y N 
Calendar month of birth 
dummies N N N N N N Y Y 
Controls Y Y Y Y N Y Y Y 
N. of months of birth 18 12 8 6 4 4 48 48 
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  1 2 3 4 5 6 7 8 
Dependent variables RDD 9m RDD 6m RDD 4m RDD 3m  RDD 2m RDD 2m DiD 1 DiD 2 
Daycare (binary) -0.0787 -0.0506 -0.0594 -0.0392* -0.0577* -0.0633* -0.0153 -0.0409 
 (0.0657) (0.0470) (0.0696) (0.0228) (0.0327) (0.0368) (0.0355) (0.0402) 
         
Official (binary) 0.1972 0.1257 0.1323 0.0463 -0.0245 -0.0146 0.0312 0.0147 
 (0.1486) (0.1175) (0.1468) (0.0841) (0.0988) (0.1026) (0.0719) (0.0843) 
         
Nanny (binary) 0.0258 0.0386 0.0833 0.0216 0.0297 0.0661 -0.0199 -0.0043 
 (0.0691) (0.0535) (0.0735) (0.0385) (0.0469) (0.0567) (0.0330) (0.0378) 
         
Informal (binary) 0.1606 0.2089** 0.1136 0.0958 0.0122 0.0646 -0.0268 0.0962 
 (0.1214) (0.0977) (0.1127) (0.0704) (0.0826) (0.0847) (0.0633) (0.0723) 
         
N 441 288 181 139 96 93 1358 1358 
Linear trend in m Y Y Y N N N Y Y 
Quadratic trend in m Y N N N N N Y N 
Calendar month of birth 
dummies N N N N N N Y Y 
Controls Y Y Y Y N Y Y Y 
N. of months  18 12 8 6 4 4 48 48 
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